EE 487 Problem Set 8 Name:

Applications of Cyber Engineering Data Management 3 Section:

Format String & Typecasting

1. Given this variable declaration:
int t = -1*(15*(9/5) + 32);
What will be the output of the following statements?
A. printf (“It is %d Fahrenheit at the North Pole.”, t);

B. printf (“It is %u Fahrenheit at the North Pole.”, t);

C. printf (“It is %x Fahrenheit at the North Pole.”, t);

D. Which format would be best if | am instead using the Kelvin scale?

2. Extra Credit

Can you find and explain any flaws in the ‘input.c’ program on page 507?

3. A) Consider the following function:

1) int x = 1784671240;
2) int y = 1026271046;
3) int z;

4) Z =X +Y;

Why will line #4 yield the wrong answer in variable ‘z'?
HINT: (Consider the binary arrangement of these variables in memory)

B) Using typecasting, modify lines #3 and #4 such that ‘z’ will contain the correct answer.
3)

4)



